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NO. | PAT) ST A
I y A x LT x = 12 ors y = -3 Th5,
DO y & x 0 RTHELERIW,
@ x = 6 OrxE y OEERHL I,
QB y = -18nkr=E x DEEZRDHLE I,
2 y N x IZEHAILT x = 12 s y = -8 Ths,
DO v % x o RATELEIW,
@ x = -3 OrE y OEERDHLIV,
QB vy = 12 o= x DEERDHLE IV,
3 y A x ICHAILT x = -5 orE y = 6 ThHhs,
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|
©O) y = ax T
x = 12 orxE, y = -3 Ens -3 = a X 12
|
a = - —
4
I
Y 4
® x = 6 ETRANTSL _ 3
2
@ vy = -18 #RANT B
-—L'sz—ls x = 72
2
O) y = ax T
x = 12 orE, y = -8 fHh5 -8 = a X 12
2
a = - —
3
Y 3
® x = -3 ERATH: y = 2
@ vy = 12 sR/ANT B
—%x= |2 x = -18
3 y = ax
x = -5 orE, y = 6 NS 6 = a X -5
L - 6
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r =2  ERATBYL y:_ixz
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y o= -4
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